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PART-B onal Importance

rnat
General Knowledge and Current Affairs of National and Inte

in India 7 8§
On which date is Good Governance Day observed annually 'l:lcr 26 (D)* December 25
(A) October 2 (B) January | (C) Decem &7
sas e 99 1S fan It & e feem e 7ATE R p——

eHEd
(A) 2WEFwS B) 1 FaEd (€) 26
?

52. Which military operation led to the liberation O{B(;oa Operation Blue Star

S1.

(A) Operation Meghdoot (D) Operation Trident
(C) Operation Vijay

I & wire SeTeE s frod 2 araeE 98 ?

(A) WS NS @) SR

©) “m)Es feR @) "YEST

?
- A FIFA Best Awards 2024
&3 Who was awarded the Men's Player of the Year (gt) tht;z odrigo Heréndez Cascante

(A) Vinicius Jr.

ionel Messi (D) £ Neymar
%%&mmﬁ%mémﬁa@amﬂ{sﬁyﬁmﬂ
(A) et gae B) IS ITSa3T aAAS
(C) 568z nH (D) dHT

S4.  Zakir Hussain, a legendary artist who received the Padma Shri, Padma Bhushan, Padma
Vibhushan, and five Grammy Awards, passed away in December 2024. In which field was
he renowned for his contributions ?

(A) Indian Classical Dance (B) Literature and P
(C) ““Tabla and Indian Classical Music (D) Painting and Sculpture
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© c ; ; B) Vo , and Indian Evidence A
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© W9 g e ©) FoE e faars e

What was the primary goal of ISRO's PSLV-C60 mission launched on December 30, 2024 9

(A) To deploy 4 new communication satellite

B) Tolaunch a manned mission to the Moon

© TO study the effects of space radiation on astronauts
(D) “To demonstrate in-space docking technology

30 THg, 2024 g‘sa*aa?éaréfén%épswcsoﬁmaay‘aaevaﬂm?
(4) RS 5e Hos ety 373 gger
(B) TEo 3 RS 1oz s ote sgar
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(A)Meerut (B) Delhj (C) Bhopal (D) Gmunmq,,&,r

1857?%&‘#3@3&”,7
A nes (B) fersh ©) 3us (D) Ih a3

71. Which.hidian chess Player secured her second Women

(A) Bhakyi Kulkarj (B) Harika Dronavalli
(D) Tania Sachdev

(©) Humpy Ko
mm;yss;gmeﬂsazmmwwmmm“‘?%
%muﬁiawﬁ‘rénr?

(A) S5 guagR (B) Ifgar gzrest

© Hiang (D) I AEes

Which country is set to host the ICC Men's Champions Trophy 2025 ?
s (C) India (D) England

(A) Aakistan (B) Australia
f’aaavéasw-ér.m.rn. YIn' & it eavEt 2025 S ATS B 3 A a3 5

(A) YAz (B) ™A () I3 (D) fdz

@ Which river was the site of the Dasrajan War (Battle of 10 kings) where Sudas
victorious ? Podf

(A) Ganges (B). . Parushni O (CY Sarasorsti . - (D) Yamuna
mm(lomam,mmﬁm,ﬁaﬁaaMM?
(4) dar (B) ygmat © Wt ) w

74. Who was the 24t Tirmm of Jainism 9
(A) Rishabhadeva (B) Parshvanatha  (C) ‘Mahavira Siddhartha
A5 H9H T 247 Sigdag d= 1t o ®

(A) fomsee (B) ygnzay © yodg D) frogy

(A) Samudragypa ‘
O Cingipar O, K
%aMmmmmmmﬁem?
W) mieggg ®) deggug|

(©) veggT 1 D) 3 o
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(A) Ates g

© Jezand ) GuI3 A I B
Who among the following is the author of Partition novel Train to Pakistan ?
(A) Amrita Prita, (B) Sahir Ludhianvi

©) "f;bushwan: Singh (D) Mohan Singh

ﬁaﬂ%ﬁ»ﬁféﬂﬁzs@émm DB YITATE TR 2
(A) Mg (@) iad Bt (¢) w3 fifuy (D) NI fify

Which village of Punjab produced the maximum number of Hockey Olympian players?
(A) Mahalpur (B} Sansarpur (C) Takhtuchak (D) Sathiala
ﬁmaéﬁnﬁb%na?éuw%ﬂmsf@aﬁwaﬂ??
(A) HIBYg (B) FHAgug ©) 3yzda (D) Hienmg

(A) 1878 (B) 1875 (©) 1876 D) 1877
85. The famous battle of Saragarhj wag fought in

il

o mmammmmm l

(A) 1895 (B) 1899 (©) 1897 D) 189
The Act which gaye staty

to
ariage Aoty e 'Y Tecognition to 4 Marriage rite of the Sikhs called
® formg e gmy W

2 0 Iga ?aamﬁaamﬂfaaﬁazaa?mab
@) 1907 B) 191
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following ; : 1
38' ﬁﬁgfgggg&uﬂ :]';]a?;jmwer the questions which follow ;
. ' g 3
2xBmeansA'lsbmﬂ:erofB./éxuﬂgmagtﬂ@wa, pr_ T
‘Bme“““lsmoﬂnerom./é-mvmaéwzﬂwm ‘lf

A+BmennsAisfatherofB./ém?@maaéém@ﬂsrél
A+ B means A i sister of B. /¥ + fl v gy 3 2 o o 3= 3

93. Which of the followin means “B is the grandfather of F” 7 e,
A) BxT_F g(B)/B+J-F (C) B-J+F OB i

ﬁ%fwﬁh?m&é'ﬁﬂa@wﬁg) i N j‘,

A) HxA_ng
© ﬁ'-—#*"a? D) H+A+ng M
SR
9‘_" moi t}]f i‘;""wmggfa"iﬁ'inﬁce OfN(c;- MxR-N (D)‘/N I+ M+
%@ﬁ?ﬁ%h@mé'mmamé? Lt |
BN 5o B) MNE+R+ e N7 2
(© MHxwg_Ns (D) W&+ H+2H+ : 7}4

after four years ?
abwéwaveﬂénwfm?aamw%mémﬁazﬂwmaamw%

ﬁaumuw»ﬂwem,oo,ooom,afmwwfwﬁﬁﬂ? o

(A) 98050 ®) 97020 © 97010 ~ (D)“%8010
96. What will be the Jeast number by which if we divide 2816, the quotient may be a
Square ?
ganggzgﬂmwmaeaﬂfmmﬁaamzmaéaém 31 IS R Hygs
?
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(Question N 99
99-102) : Study the following graph carefull jes in
Bar graph shows the income ::1 d :x;e::i’mrge g(:t; Lakh 2) of five compan

and the profit/]gg : : i ﬁél

& 99-102) ?cétén%g?c is calculated as fo"% P C w3 &3 w 2 J ”3 VO S/

(=TS : )1 &,

L s e e o 0 o= 0 2
mémmw@amaz 2 A”“o( ’7/;

Profit/Loss Percentage = I“°°";3;e‘[3";‘i’:§‘e"‘“’° x 100 b;.o’(a /(j; &% s e

Expenditure and Income of five Companies ‘/Og
U Sy ygar w3 WHEs o B

45 50 45 42 1227
25 % 40 O o 1
0] o

b

] 2 i i \

SX
A B oA E i &
% ! (Fompnnlu/m" ’10(’&5 2 ;’
B Expenditure /%99 [] Income / ™HE5 Z

99, The profit/loss percentage (Approximately) of all the five companies taken together in the 2>
' 2%

year 2024 is s
(A) 7% Profit (B) 0§A Loss (©) 5% Profit (D) 6% Profit 4 <= q\L

A 2024 19 fedldinit Ardinii A dushit & B1g/gams YHtez @3 Al
(A) 7%33 B) 5%FIHE  (C) 5% TS ©) 6% ,*;%//?

100. The maximum profit grcentage in the year 2024 is eamned by company ¥
myuﬁ‘aé‘u? 13 yFH3 duat wwfewig;lwﬁl;,_ D-2X ‘)@‘10
(A)'D (B) B @ LE ® E »3_ 7
101. For the company E, if expenditures had increased by 20% in the year 2024 from the yeee 1|
2023 and the company had earned a profit of 10% in 2023. What was the company’s income

in 2023 (in Lakh ¥) ?
gl £ B, Aed A 2023 3 AT 2024 oG vt R 20% BT Afenn ot il ey
3 2023 &8 10% T arer e #i1 2023 g shal € wmies ot il By R i),
(A)/41.25 (B) 4275 (€) 3875 D) 40.15
N i e of company D in 2024 was 10% more than its income in 2023 and the
= lllifih::::dn; rofit og 20)‘1% in 2023, then its expenditure in 2023 (in Lakh ¥) was ; S pany
D & niHE 2023 &G TRl wmies T8 10% ST H 9 g o

F9d 2024 feg fuat
i, 3t 2023 ffe fewrer v Xy que et
2023fé‘q‘w%;3'zwEm;ﬁms{:).so (¥ 1232 ) 3434
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103, In 4 i

aeaui’zﬁ'i"aﬁﬁd-?r';‘".guase. 321" means “Briljjan Lovely B s pons B
code ? O 0418 “Banana Lovely Pyl Whieh dight means “Begiesd in t
ﬁamﬂam@q
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104. There is g certa; relationship between two given words on one side of - : and one
given on another side of : : while another word is to be found from the given a}

Worg
hlV!ng the same relation with this word as the words of the given pair bear. ChOOSe,'

Correct alternative,

Ammeter : Current :: Barometer ~

(A) Speed (B) Humidity (C) ‘/ﬂessure

(D)  Mass
@@awg@?a@mﬁ%ﬁammé»@ ée#urﬁfeamﬁsr
A3 3 a2 feranyt 123 iy HEE Bl i greftor 3 :
mé#fé?aénaafé#aféméma?féam_ I ﬁm?fewmarg 3
ﬂ’ﬂaa:a#a::ﬂﬂlﬂ?a
(4) gt (B
) M (©) wEmy D) Uy
| 1 :
@ :a;mp ete tl; .;c:c;:; S;I;ctmg the correc ahen:;lﬁv;g,‘ - 6
1 T
222696, 7 %}Fﬁ@“f ' ithttea 9}
(A) A1 7o Gy 32‘1\1-
e © 4iq
T ) 415
In the gy,
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o.111) ! Read the following i
09- :

4 ! (Questions 1

that follows. wm&mmu@”@aﬁﬁgmémm| 14,

TS 109-1 1) : 5, F, G, H, L are to appear on a series of three panels. E‘}‘{h |
Nine rcnt-ncﬁrlh/:tle’;c;;éhém "nd each teacher will appear exactly once. The conditiong g
will consist 0 |

arranging panels are as follows : g e £ St ot e -32-3“-
%%m"mgég'g%mmmmmm. Vo5t A fah
535 ¥ HaSt 96 B8 WEHE I6 :

C and H must be on the same panel. / yﬂ”’gj)?:g ﬁﬁgg g%‘?ﬂ%a 'al@aa??:ll

E and F must be on the same panel. /

I and D can not be on the same panel. /

G must appear on the second panel. / Hi ';’ﬁ
Either D or G or both must appear on the panel wi

Uas §3 fourst 22 grdie I6| _

109. Which of the following teachers could appear on a panel together ?
(A) FLA (B)H,C, D (©) G,D,A"
w%ﬁ%mmm@mm@mm
(A) W ®  (B) g A F © #HF:H2

110. All 9’ following could appear on the same panel as E, except
(A" C (B) A ©) D D) 1
31 R 3 82 o 3 ¥ 3 Fewrdh @ e s, e

P 7 y © & ©) wd
g

thB./H 31

11) If D and E appear on the thi ; - |
& second pane] ? third panel, which of the following teachers must appear on|

S © F =
5% 62 foursh feurdh i@ g, ?Wf@wﬁgm

G
Tadwy; ;
(C) e
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If the first day of at ear was / ;
i'. (A) Monday § n°ﬂ~(1;ap year was Friday, then the last d2Y o8 y(D?/F'iday + Wi
) 8 turday : il 2
unday (C) Sa s __—

A3 B sy 7
| Yl fog Hagea A, S EAAS T
(A) RHeI ® © D) Hadg<d

E;ﬂc’ ;I(’);’e J t;re five rivers. F is shorter than G but longer than J. .H is the 17
little s T than G and little longer than F. Which is the shortest river ? ;
(D)

(A~ s e it :
e, 7, 7Y, w.ﬁﬂnmmlﬂamié;iéuaﬁiﬁélmﬂ??ﬂﬁaﬂ »
e fagdftd?

@ # ®) # () "9 ®)

gest and 1

A statement i§ given followed by two assumptions. Consider the statements and decide

which of the given assumptions is implicit.

‘Statement : “If you want to give any advertisement, give it in the newspaper “M” R8T, 1,

tells Sham. !

B mtions * ‘ W'Si[ 1'1@

[Rssumptions : St e

I.  Sham wants to publicize his products. <% o.F
1 7% (59

II. Newspaper M has a wide circulation.
(A) Only assumption I is implicit.

(C) Both assumptioné I and IT are implicit. (D) None of the assumption is implicit.
g 755 3 Tmie @ Tgae R it 9| 8w B3 feara 5@ w3 2Rs 3 fal feSvt

®) ‘/Only assumption IT is implicit.

et TrgaTe & faadt fafas 9 2 . iz

qE5: 3 I fenf3og 2D 3t viyErg " feg @ feB - I A T §

qaae : s PR

L R §3ue v yge 99aT age dl 1Y
S,

I »HEE W o fenmud Ufgess J
(a) aeBuIH1fsfa33
(©) 143123 udse f5fa3 a5

If it is possible to make a meaningful word with 1%, 4%, 7" and 11" letters of the word
“SUPERFLUOUS?, then what will be the first letter of that word ? If no meaningful word |

®) IBTIS OGS - 5
o) HdTeeisEadar S

can be made, X is the answer.
@A) s ®) E (Oe? ®) X

339 “SUPERFLUOUS” HEE ® ufad, 98, A3 3 famige »iudl a8 »Jayds HEe :’
T e 3, 31 OF HEe © ufgs wid fage J=aN 2 Aud IE HIEYIs HEE &

g 71 e, 31 €39 WaA I

(A) WA ® # © B (D) A

19
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(B) 96 jp——
- SH B g 9 e (D) WA =as fed

HY3
®Fa orem  of ‘
P~} Sty Wa 'a'aa-em
_Ai:!?l.. ?f;lfl-!mpnatlon Wg)ﬁam . (C)_/mrgagﬂ (D)

122 o oo R P e e 37

4
(A) AT, ®) g © W ¢ 0y e
I T e S
I i (m. ®) foom ©Ts ®).ol g
' . ' HEe feg figsg
i X?a : ®) fo © 9 (DY Tfeq

125, I3 fisfignit f7 m HEE ¥ AHBT98S 7R fygar S 2
A) Y= ¢ B) Ffm ©y

(D) ﬂ?:g
126, -wmmammmma? %
aie (B) “FHyTergy wie
(C) W@H&W@ (D) m’i"ﬁ%
et ettt
B) U V3 Lar
araanauagnfwa?e?m mm@‘w,mmém :
%m
m@;ﬂwa? TR Yy
fa’a”"ill (B) #G’Baqua)m
™ By 0 (D) Hm&a%ﬂg
" ‘R'm‘aig{ﬁfan A
(B)
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143. To copy a cell formula in Ms Excel, the shortcut key is :

(A) Cirl+x (B) Ctrl+L
© Cul+T (D)~ Ctrl + C i
‘ mmmﬁ%@mmawmmmzjeﬁ :
]+
(A) Ctl+X (B) Cu
(€) Ctrl+T (D) Cul+C

i 1?
144, Which of the following is not a type of chart in MS Exce

(A) *Column chart (B) Piechart —
(C) Barchart (D) Axix chart
3 {5 R farga i A e 18 e S i w4 2
(A) IBHTTE (B) urElwEe
(€) FITIe (D) WA gae

145. What is the use of a firewall in a network ?
(A) To access a network device,
(B) To repair the network switch,
(C) To manage netwo}k only from data,
(D) ‘/To block unauthorized accegs 1o a network.
3 Beeaa g mirgers <93 fam w4t 3
(4) R doega g 35 e w95 g
®) Acea nitg Y3 T35 g

© PR3 e i e g
(D) @‘ngq),mm 1@3333@.&.3
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